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Equações de Maxwell
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Ondas  eletromagnéticas
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Campo elétrico e potenciais
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Campo elétrico e potenciais
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Transformações de  gauge
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~r · ~B = 0 ) ~B = ~r⇥ ~A



Transformações de  gauge
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Transformações de  gauge
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Transformações de  gauge
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Transformações de  gauge
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Transformações de  gauge
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Transformações de  gauge
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Transformações de  gauge
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Transformações de  gauge
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Transformações de  gauge
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Leis de conservação
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Conservação da carga
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Conservação da carga
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Conservação da energia 
Capacitor carregado

�q q
<latexit sha1_base64="26Djb/jYRQoHgabSwpKZT6JcK3c="></latexit>
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Meio condutor


• Carga decai


• Energia decai


• Como decai?



Conservação da energia 
Capacitor carregado
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Conservação da energia 
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